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MNU 2-09c                 Homework 5                                 Gold Level 

Outcome 1 - Calculating Profit 

For the following, calculate the profit… 

Buying Price = £0·03 
Selling price = £0·11 
Calculate the profit. 

Buying Price = £0·22 
Selling price = £0·51 
Calculate the profit. 

Buying Price = £0·14 
Selling price = £0·43 
Calculate the profit. 

Buying Price = £0·15 
Selling price = £0·29 
Calculate the profit. 

Buying Price = £0·42 
Selling price = £0·63 
Calculate the profit. 

Buying Price = £0·67 
Selling price = £1·76 
Calculate the profit. 

Buying Price = £0·29 
Selling price = £0·95 
Calculate the profit. 

Buying Price = £0·85 
Selling price = £1·95 
Calculate the profit. 

Buying Price = £0·97 
Selling price = £2·59 
Calculate the profit. 

Buying Price = £0·75 
Selling price = £1·18 
Calculate the profit. 

Outcome 2 - Buying in Bulk 

For each of the following, calculate  
the total profit… 

Cost for 6 eggs = £2·22 
Individual selling price = £0·48 
Calculate the total profit. 

Cost for 3 strawberries = £0·39 
Individual selling price = £0·29 
Calculate the total profit. 

Cost for 2 limes = £0·88 
Individual selling price = £0·65 
Calculate the total profit. 

Cost for 5 bottles of cola = £3·85 
Individual selling price = £1·25 
Calculate the total profit. 

Cost for 3 truffles = £1·44 
Individual selling price = £0·84 
Calculate the total profit. 
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